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MBS RBEM=)RHNEREHEME QMBI =/\—Y )L Y —E XA E{E +(3)H1E H IR EE B

+ABFENHEHIEEE = FiA -5.69|/kWh
(1) BA¥ & R R Bl = (Y PAEHMEHE —80,800) x EL#EBiffi—1,000 = -5.69|F/kWh
202452 ~2024F 4 B FH D E S FHEIE
A: 1KkIBHT=Y DR R 79,291 { o: 0.1874 HAEE 0.173 H
B: 1tdh1=YDTEHLNGIEE 94,762 M 0.0899
C: tHI-YDTEHRRME 24476 M Y 1.0036
EHREMER = Axa +Bx S8 + VX 7y = 47,900 H (100 KEFEEERAN)
(2) BB —/N\—Y )L Y —E R E fi = (B & F R #HT 4% —79,300M) x EHE B ffi — 1,000 0.00]FH/kWh
202452 H ~2024F 4 B FHDE S FHEIE
A: 1KkIBH =Y DR R 79,291 { 1.0000 HAEE 0.001 [
B: 1tdh1=YDTEHLNGIHmE 94,762 M 0.0000
C: 1tHI-YDTEHRRME 24476 M Y 0.0000
EETEMREMEKR = AXxao +Bx S8 + VX y= 79300 H (100 RFEEERAN)
Q) HENFAREM=A<BOEE. HEHFAREM=(A—B)XDXx(1+HE&EHRE) = 0.00]F/kWh
A>CODIGE ., ENRABEM=(A—C)xDx(1+HERZEK) 0.00]F/kWh
A: BTADIVTISARFEHE-(1-1843H) x HER 13.74 MADIN7ZISAREYIE 11.5
B: EJTIAEREEEM (Fiik) 8.00 BEkE 7.9%
C: BMFHEEAEEM (Fik) 14.00 SRR 110%
D: #EEE 70%
4) REHEAIREE 0.00|F9/kWh
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MBS RBEM=)RHNEREHEME QMBI =/\—Y )L Y —E XA E{E +(3)H1E H IR EE B

+ABFENHEHIEEE = FiA -6.95|M/kWh
(1) BR¥ & R Bl = (Y PARMIHE —83,500M) x E#EBiffi—1,000 = -6.95|F/kWh
202452 ~2024F 4 B FH D E S FHEIE
A: 1KkIBHT=Y DR R 79,291 { o: 0.0259 HAEE 0.197 [
B: 1tdh1=YDTEHLNGIEE 94,762 M 0.2563
C: tHI-YDTEHRRME 24476 M Y 0.8915
EHREMER = Axa +Bx S8 + VX y = 48200 H (100 KEFEEERAN)
(2) BB —/N\—Y )L Y —E R E fi = (B & F R #HT 4% —79,300M) x EHE B ffi — 1,000 0.00]FH/kWh
202452 H ~2024F 4 B FHDE S FHEIE
A: 1KkIBH =Y DR R 79,291 { 1.0000 HAEE 0.001 [
B: 1tdh1=YDTEHLNGIHmE 94,762 M 0.0000
C: 1tHI-YDTEHRRME 24476 M Y 0.0000
EETEMREMEKR = AXxao +Bx S8 + VX y= 79300 H (100 RFEEERAN)
Q) HENFAREM=A<BOEE. HEHFAREM=(A—B)XDXx(1+HE&EHRE) = 0.00]F/kWh
A>CODIGE ., ENRABEM=(A—C)xDx(1+HERZEK) 0.00]F/kWh
A: BTADIVTISARFEHE-(1-1843H) x HER 13.86 MADIN7ZISAREYIE 11.53
B: EJTIAEREEEM (Fiik) 7.00 BEkE 8.5%
C: BMFHEEAEEM (Fik) 14.00 SRR 110%
D: #EEE 70%
4) REHEAIREE 0.00|F9/kWh
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MBS RBEM=)RHNEREHEME QMBI =/\—Y )L Y —E XA E{E +(3)H1E H IR EE B

+ABFENHEHIEEE = FiA -5.62|M/kWh
(1) BR¥ & R Bl = (FY ARl —86,100M) x ZL#EBi{fi—1,000 = -6.09]F/kWh
202452 ~2024F 4 B FH D E S FHEIE
A: 1KkIBHT=Y DR R 79,291 { o: 0.0048 HAEE 0.183 M
B: 1tdh1=YDTEHLNGIEE 94,762 M 0.3827
C: tHI-YDTEHRRME 24476 M Y 0.6584
Eg@iE = AXxa +BX S8 +Vxy = 52800 M (100 KEFEEERAN)
Q) BEI-N—Y LY —ERFEE M= (B S FHREHEE —0M) x B4E M +1,000 = 0.00]F/kWh
202452 H ~2024F 4 B FHDE S FHEIE
A: 1KkIBH =Y DR R 79,291 { 0.0000 HAEE 0.000 [
B: 1tdh1=YDTEHLNGIHmE 94,762 M 0.0000
C: 1tHI-YDTEHRRME 24476 M Y 0.0000
HELHBRE@EKR=AXxa +BXxB8 +Vxr=0H (100K BEERA)
Q) HENFAREM=A<BOEE. HEHFAREM=(A—B)XDXx(1+HE&EHRE) = 0.00]F/kWh
A>CODIGE . IEHFAREMm=(A—C)XDx(1+HEHRE) = 0.47]F/kWh
A: BTADIVTISARFEHE-(1-1843H) x HER 14.62 MADIN7ZISAREYIE 12.37
B: EJTIAEREEEM (Fiik) 7.00 BxE 6.9%
C: BMFHEEAEEM (Fik) 14.00 SRR 110%
D: #EEE 70%
4) REHEAIREE 0.00|F9/kWh
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MBS RBEM=)RHNEREHEME QMBI =/\—Y )L Y —E XA E{E +(3)H1E H IR EE B

+ABFENHEHIEEE = FiA 2.84|M/kWh
(1) BR¥ & R Bl = (F PRIl —45,900/) x ZL#EB{fi—1,000 = 2.84]M/kWh
202452 ~2024F 4 B FH D E S FHEIE
A: 1KkIBHT=Y DR R 79,291 { o: 0.0275 HAEE 0.233 M
B: 1tdh1=YDTEHLNGIEE 94,762 M 0.4792
C: tHI-YDTEHRRME 24476 M Y 0.4275
EHREMER = Axa +Bx S8 +VXxy = 58100 H (100 KEFEEERAN)
Q) BEI-N—Y LY —ERFEE M= (B S FHREHEE —0M) x B4E M +1,000 = 0.00]F/kWh
202452 H ~2024F 4 B FHDE S FHEIE
A: 1KkIBH =Y DR R 79,291 { 0.0000 HAEE 0.000 [
B: 1tdh1=YDTEHLNGIHmE 94,762 M 0.0000
C: 1tHI-YDTEHRRME 24476 M Y 0.0000
HELHBRE@EKR=AXxa +BXxB8 +Vxr=0H (100K BEERA)
Q) HENFAREM=A<BOEE. HEHFAREM=(A—B)XDXx(1+HE&EHRE) = 0.00]F/kWh
A>CODIGE ., ENRABEM=(A—C)xDx(1+HERZEK) 0.00]F/kWh
A: BTADIVTISARFEHE-(1-1843H) x HER 12.86 MADIN7ZISAREYIE 10.86
B: EJTIAEREEEM (Fiik) 5.00 BEkE 7.1%
C: BMFHEEAEEM (Fik) 13.00 SRR 110%
D: #EEE 70%
4) REHEAIREE 0.00|F9/kWh
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TRIZEOHRERY. EHALBLEFET,
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MBS RBEM=)RHNEREHEME QMBI =/\—Y )L Y —E XA E{E +(3)H1E H IR EE B

+ABFENHEHIEEE = FiA -6.42|M/kWh
(1) BRK B S 2R B (il = (R FHEliFE — 79,800) x E#E B {fi— 1,000 = -6.42|F/kWh
202442 A ~2024F4 A D E S EHEE
A 1KIBHT=Y DT E RS 79,291 M o 0.0415 HAE B 0.165 M
B: 1tdHh1=YDFHLNGEE 94,762 M 0.0745
C: 1tH-YDTEHARME 24,476 M Y 1.2499
LR = AXxa +BXx B8 +Vxy = 40900 M (100AKEMEERA)
Q) BEI-N—YI)LY—ERFEE M= (B SR EHEE —0M) x E#EB{H 1,000 = 0.00]FH/kWh
202442 A ~2024FE4 A FHDE S EHESE
A 1KIH =Y OFEHEREE 79,291 [ o 0.0000 FAE B 0.000 M
B: 1tdHh1=YDFHLNGEE 94,762 M 0.0000
C: 1tH-YDTEHARME 24,476 M Y 0.0000
HEEYREMEK=AXxa +BXS8 +VXyr=0H (100 KHmEIER A)
Q) HEHFEBEM=A<BOEGEE. HEHFABEM=(A—B)xDx(1+HE&RE) = 0.00]F/kWh
A>COIGE . HENHAREM=(A—C)xDx(1+;H&F =) 0.00]F/kWh
A BTADIVTISARAEHE-(1-$8KFR) x F{ER 11.70 BADI) 7 ISAAEHE 9.81
B: ETIABEEREMFRiR) 5.00 |RE 7.8%
C: BhNZFEEEEE M (Fiik) 13.00 TREEER 110%
D: #EEE 70%
1) FEllHE5iB% 0.00]FH/kWh
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THRHAOBEERY ., EEILALETFET,
WA OBEHSICEENIMBESAREME, TROBYVSHSLLES .
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MM EEREREM=)RHERBEH QS L=/ \— LY —EXFAREM+Q)EEHAREM

+A)BFERHEEIBE= XD 15kWhET Biia 61.13 A
LS oA 4.08 M /kWh
(1) R B AR = (TR FHEHE —27,100M) x E#EH{fi 1,000 = YD 15kWhE T 61.13|FH
202442 A ~2024F4 A FH OB B R EHEE £ 4.08|H/kWh
A: 1kI&HT=Y O F R B 79,291 [ o 0.0140
B: 1t&H71=YDFHLNGIHEE 94,762 M B: 0.3483 ~15kWhEL £ B4 {f 2475 [
C: 1tH=Y DFEH A R 24,476 M Y 0.7227 16kWh~ £t B 0.165 [

TR EMER = AXxa +BX S8 +VXxy = 51,800 H (100MKHMIERA)

QBEI-_/N\—Y LY —ERFEETE= Gt ST HREHEE —0M) x HZEB{H 1,000 = 0.00JF4/kWh

202452 ~20245F 48 FH D E Z#fEHEE
A: kB T=Y DR mmE 79,291 A a: 0.0000 HAEBR 0.000 M
B: 1t&H1=YDTEHLNGIEHE 94,762 M B : 0.0000
C: 1tH1=YDOFHH xmE 24,476 M Y 0.0000

EHETHREMEK=AXao +BX 8 +VXxy=0H (100 KEM@IER A)

Q) HNEHAREM=A<BDIGE. HEHFAZEM=(A—B)XDX(1+HERE) = 0.00JF9/kWh

A>COGE . HENFHBEM=(A—C)xDx(1+HEHRE) = 0.00|F3/kWh

A: BTADIYTTSAREHE-(1-18KFE) x FEER 11.67 BADIITTSA R EH{E 9.78
B: EJCIAERE RN (Fitk) 5.00 P 7.8%
C: BIMFAEEEBH (Fiik) 13.00 REER 110%
D: BEIE 70%

@) FENHEEIBEE 0.00]F1/kWh
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MM EEREREM=)RHERBEH QS L=/ \— LY —EXFAREM+Q)EEHAREM

+A)BFERHEEIBE= XD 15kWhET Biia -121.99 A
LS oA -8.12 M /kWh
(1) BRH & R Bl = (R RHE4E — 80,300/ ) x E#EH{fi 1,000 = RYUIDI5kWhET -121.99|M
202442 A ~2024F4 A FH OB B R EHEE £ -8.12| 4 /kWh
A: 1kI&HT=Y O F R B 79,291 A o 0.0406
B: 1t&H71=YDFHLNGIHEE 94,762 M B: 0.0992 ~15kWhEL £ B4 {f 3.185 M
C: 1tH=Y DFEH A R 24,476 M Y 1.1994 16kWh ~ Ek % B4 0.212 M

TEHREMER = Axa +BX 8 +VXxy = 42,000 M (100MKHMIERA)
| EERDERFD15kWhET

(2) BESA=/N\—Y LY —E R B = (B ST ABHE —79,300M) x HAEH{H 1,000 = 0.00{/kWh
2024452 ~ 202454 R T D & F i sHli1& 0.00|F/kWh
A: 1kIHT=Y O T R fH1E 79,291 /M o 1.0000 T FEASLEELISY
B: 1t&H71=YDFHLNGIEE 94,762 [ B: 0.0000 ~ 15kWhEL £ B {ff; 0.017 M
C: 1tdH1=Y D TR RS 24,476 M 7 0.0000 16KkWh ~ £t #£ B 0.001 F

HETHREER=AXxa +BxB +Vxr=79300  (100AKHEmEZEHA)

Q) HNEHAREM=A<BDIGE. HEHFAZEM=(A—B)XDX(1+HERE) = 0.00JF9/kWh
A>COIGE. HENRABEM=(A—C)XDx(1+HERE) = 0.00} M /kWh
A: BIBDIVT7ISAREHE-(1-18K3F) x fBER 11.55 BADIYTISAAEYIE 9.69
B: EITIAEEAEEE (Fiik) 5.00 P 7.7%
C: BIMFAEEEBH (Fiik) 13.00 REER 110%
D: BEIE 70%
(4) SENHEEIEEE 0.00|F4/kWh

ULt
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BT Y LR/IRT—

MM EEREREM=)RHERBEH QS L=/ \— LY —EXFAREM+Q)EEHAREM

+NBFENHEEEEE= ZYD15kWhET A -62.68 M
Lt A -5.70 M /kWh
(1) PR¥ B SRR Bl = (SEH A $HEE 4% —80,000M) x A =1,000 = BHDIKWhET -62.68|H
20242 F ~2024F4 A T D B SffeHESE LEELs -5.70|F9/kWh
A: 1kIHT=Y O F R ih il 79,291 A 0.0875
B: 1tH1=YDTFHLNGIEE 94,762 M 0.0770 ~11kWhEL 2 B {f 1.694 M
C: 1tHT=YDEHE &M 24,476 M Y- 1.1770 12kWh ~ L £ B4 {fff 0.154 [
TEHEREMER = Axa +BX 8 +Vxy = 43,000 M (100MKHMIERA)
Q) BEI—/N\—Y LY —E RFEEME= (3t ST % EHEE —79,300) x ZEH{{H 1,000 = 0.00JF4/kWh
202452 ~20245F 48 FH D E Z#fEHEE
A: kB T=Y DR mmE 79,291 A 0.0000 HAEBR 0.000 M
B: 1tH-YDTEHLNGIEE 94,762 M 0.0000
C: 1tHf=Y DEH A RME 24,476 M e 0.0000
EHETHREMEK=AXao +BX 8 +VXxy=0H (100 KEM@IER A)
Q) HNEHAREM=A<BDIGE. HEHFAZEM=(A—B)XDX(1+HERE) = 0.00JF9/kWh
A>COIGE. HENRABEM=(A—C)XDx(1+HERE) = 0.00} M /kWh
A: BIBDIVT7ISAREHE-(1-18K3F) x fBER 11.08 BADIYTISAAEYIE 9.26
B: EITIAEEAEEE (Fiik) 5.00 P 8.1%
C: BIMFAEEEBH (Fiik) 13.00 REER 110%
D: BEIE 70%
@) FENHEEIBEE 0.00]F1/kWh

ULt
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BADBIHEICSFTNIRHMEFHBEME. TELOBYSHSELET.

MBS RBEM=)RHNEREHEME QMBI =/ \—Y )L Y —E XA E{E +(3)H1E H IR EE B

+ABFENHEHIEEE = FiA 2.31|M/kWh
(1) BR¥ & B = (CEY ARl —27,400M) x ZL#EB{fi—1,000 = 2.31|M/kWh
202452 H ~2024F 4 B FHDE S FHIE
A: 1KkIBH =Y DR R 79,291 { 0.0053 HAEE 0.136 [
B: 1tdh1=YDTEHLNGIEE 94,762 M 0.1861
C: 1tHI-YDTEHRRXRME 24476 M Y 1.0757
EHREMER = AXxa +BXx S8 + VX 7y = 44,400 H (100 REEERAN)
(2) BB —/N\—Y )L Y —E R B = (B & F R #HT4& —79,300M) x R EEB{H 1,000 = 0.00]FH/kWh
20242 ~2024F 4B FHDE S FHEIE
A: 1KkIBH =Y DR R 79,291 { o: 1.0000 HAEE 0.003 [
B: 1tdh=YDTEHLNGIHmE 94,762 M B: 0.0000
C: tHI-YDTEHRRXRME 24476 M Y 0.0000
EETEMREMEKR = AXxao +Bx S8 + VX y= 79300 H (100 KEEERAN)
Q) HENFAREM=A<BOEE. HEHFAREM=(A—B)XDx(1+HE&EHRE) = 0.00]F/kWh
A>CODIHE . IEHFAREMm=(A—C)XDXx(1+HEHE) = 0.00]F/kWh
A: BTADIVTISARFEHE-(1-18K3F) x R 11.49 MADIV7ZISAREYIE 9.55
B: EJTIAEEEEM (Fiik) 5.00 BxE 8.6%
C: BMFHEEAEE M (Fik) 13.00 SRR 110%
D: #EEE 70%
4) REHEAIREE 0.00|F9/kWh

Uk




